1_11_2 Notes and answers.notebook

September 25, 2017

anr | LW
Section 1.2
Check Point Exercises 7. du—-T=4x-11+3
1. 4x+5=29 dy—T=4x-1)+3
4”5;5=§:‘5 dr—T=4dxr—4+3
=
E_E 41—?=4I—1
4 4 —T=-I
Check: x=6 The original equation is equivalent to the statement
4x45=29 =7 ==1, which is false for every value of x.
4(6)+5=29 The solution set is the empty set, &.
24+5=29 The equation is an inconsistent equation.
29=79 true

The solution set is {6].

13. 16=3(x=1=(x=T7) 19. 20--% 25, X3 3,%3
lh=3x=3-x+7 32 6 8 4
l6=2x+4 X x x+3 3 x-5

6l 20-=== ==
12=2x [ 3 2] 24[6 E 4]
h=x Y — _ _
The solution set is {6]. 120 |22; _:I+ ) j“:f = 9’;1' 13“
=4 x I—xr=—il—l1z
Check: 120 =5x —2x=-33
16=3(6-1)—(6-T) =120 EE
xr=— x=—
16=3{5)—(-1) 5 2
16=15+1 x=24 . 33
lGm1E The solution set is ? .
a The solution set is {24].
LEUC DUPILELELILE BCL 1S l_lJ. 3 I
| 4 5 /&‘( 43, a. 3 2+?=—1{1;&1)
. A = -2 xr— = -
~=5, 3 x=0) 37. a "2 1= @#0)
X
4_5 4 7i+3_23<2 I b 232+%=i|
b. —=—+3 T xr— _x+ x— -
x 2x X QX ( bo X 2x = X 3 +l-_2
x=242x=2x42 =1 2 x-1
i=6r 2 /LL - 51bX 1-2=i 3+l x-1)=4
' 22X = I4x—l=4
—_—= o
> 2 X The solution set is {4}. s
The solution set is {%} ? 5 The solution set is {2}.
N —\_ (O X 1 5 [}
E] 2 8 49. a. - = (x#-24)
45. + = x#-22) -4 x42 (x—-4jx+2)
x+2 x=2 (x+2Wx-=-2)
B 1 5 __ 6
b. 3 + 2 = 3_ x—4 x+2 13_11_3
p— — -
x+2 x=2 (x+2)ix-2) 5 6
(x#2,x#-2) ¥—4 x+2  (x—dNr+2)
=7 » =
3x-2)+2x+2)=8 (x#4,x#=2)

3x—6+2x+4=8
Sx=10

x=2= no solution
The solution set is the empty set, @

lix+2)—5{r—4)=06
x+2-5x+20=6
—Adx=-16

x=4= nosolution
The solution set is the empty set, &,
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20.X=3 _29.2=2 _ 9.
5 4

4(x—3)-5(x-5)=20
4x—12-5x+25=20
—x+13=20

—x=7

x=-7
The solution set is {=7}.

65. 10x+3=8x+3
2r+3=3
2x=0
x=0
The solution set {0}.

The given equation is a conditional equation.

4 . 3 =;

x=2 x+5 (x+5x-2)
AHx+5+Hx-2)=7
4x+204+3x-6=7
Tx=-7

x=—1
The solution set is {=1}.
The given equation is a conditional equation.

77.

59.
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Ix—4) x—4 3
3{.{—4}-U=3fx—4J[Lﬁ_i_E]
Ix—4) x—4 3
U=3(.r—4}|f.r+6j_5-3{.r—4j_2-3{1—4J
Jx—4) x—4 3

D=(x+6)=15-2(x—4)
O=x+6-15-2x+8
O0=—x-1
x=—1

The solution set is {=1}.

—dx=-8
xr=2= nosolution
The solution set is the empty set, &,
The given equation is an inconsistent equation.

83. The equation is —3{x—3) =5(2—x), and the solution is x=0.5.

85, Solve: d{x—-2)+2=4x-2(2—x)
dr—84+2=4x—-44+2x
dr—b=6x—4
—Ix—b=—4
—2x=2
r=-1
Now, evaluate x° —x for x=—1:
P —x=i=1y=(-1)
=l-(-l)=l+1=2
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